

1) a)

$$\left. \begin{aligned} E[X_t] &= a \text{ independent of } t \\ V(X_t) &= b^2 \times \sigma^2 + c^2 \times \sigma^2 = (b^2 + c^2) \times \sigma^2 \\ Cov(X_{t+1}, X_t) &= Cov(a + bZ_{t+1} + cZ_{t-1}, a + bZ_t + cZ_{t-2}) = 0 \\ Cov(X_{t+2}, X_t) &= Cov(a + bZ_{t+2} + cZ_t, a + bZ_t + cZ_{t-2}) = b \times c \times \sigma^2 \\ \Rightarrow \gamma_x(t+h, t) &= \begin{cases} (b^2 + c^2)\sigma^2, & \text{if } h = 0 \\ b \times c \times \sigma^2, & \text{if } h \in \{-2; +2\} \\ 0, & \text{else} \end{cases} \end{aligned} \right\} \Rightarrow \{X_t\} \text{ stationary}$$

b)

$$\left. \begin{aligned} E[X_t] &= 0 \text{ independent of } t \\ V(X_t) &= (\cos^2(ct) + \sin^2(ct)) \times \sigma^2 = \sigma^2 \\ Cov(X_{t+1}, X_t) &= Cov(Z_{t+1} \cos(ct) + Z_t \sin(ct), Z_t \cos(ct) + Z_{t-1} \sin(ct)) = \sin(ct) \times \cos(ct) \times \sigma^2 \\ \Rightarrow \gamma_x(t+h, t) &= \begin{cases} \sigma^2, & \text{if } h = 0 \\ \sin(ct) \times \cos(ct) \times \sigma^2, & \text{if } h \in \{-1, +1\} \\ 0, & \text{else} \end{cases} \end{aligned} \right\} \Rightarrow E[X_t^2] = \sigma^2 < \infty$$

$\Rightarrow \{X_t\}$  not stationary

c)

$$\left. \begin{aligned} E[X_t] &= a \\ V(X_t) &= b^2 \sigma^2 \\ Cov(X_{t+h}, X_t) &= Cov(a + bZ_0, a + bZ_0) = b^2 \sigma^2 \\ \Rightarrow \gamma_x(t+h, t) &= b^2 \sigma^2 \quad \forall h \in Z. \end{aligned} \right\} \Rightarrow \{X_t\} \text{ stationary}$$

d)

$$\left. \begin{aligned} E[X_t] &= E[Z_t] \times E[Z_{t-1}] = 0 \\ E[X_t^2] &= E[Z_t^2] \times E[Z_{t-1}^2] = \sigma^2 \times \sigma^2 = \sigma^4 < \infty \\ Cov(X_{t+1}, X_t) &= Cov(Z_{t+1}Z_t, Z_tZ_{t-1}) = E[Z_{t+1} \times Z_t^2 \times Z_{t-1}] - E[Z_{t+1}Z_t] \times E[Z_tZ_{t-1}] \\ &= 0 \\ \Rightarrow \gamma_x(t+h, t) &= \begin{cases} \sigma^4, & \text{if } h = 0 \\ 0, & \text{else} \end{cases} \end{aligned} \right\} \Rightarrow V(X_t) = \sigma^4$$

$\Rightarrow \{X_t\}$  stationary

2) a)

$$\gamma_x(t+h, t) = \begin{cases} (1 + \theta^2) \cdot \sigma^2, & \text{if } h = 0 \\ \theta \cdot \sigma^2, & \text{if } h \in \{-2, +2\} \\ 0, & \text{else} \end{cases} = \begin{cases} 1.64, & h = 0 \\ 0.8, & h \in \{-2, +2\} \\ 0, & \text{else} \end{cases}$$

$$\rho_x(h) = \begin{cases} 1, & \text{if } h = 0 \\ \theta/(1 + \theta^2), & \text{if } h \in \{-2, 2\} \\ 0, & \text{else} \end{cases} = \begin{cases} 1, & h = 0 \\ 0.48780, & h \in \{-2, +2\} \\ 0, & \text{else} \end{cases}$$

b)  $V(\bar{X}_4) = \frac{1}{16} \times V(X_1 + X_2 + X_3 + X_4) = \frac{1}{16} \times \left( \sum_{j=1}^4 V(X_j) + 2Cov(X_1, X_3) + 2Cov(X_2, X_4) \right)$   
 $= \frac{1}{4} \times 1.64 + \frac{1}{8} \times 2 \times 0.8 = 0.61 \searrow$

symmetric around 0.41

c)  $V(\bar{X}_4) = \frac{1}{4} \times 1.64 \times \frac{1}{8} \times 2 \times (-0.8) = 0.21 \nearrow$

